
Основные формулы тригонометрии
1.

2.

3.

4.

5.

cos2 а + sin2 а = 1
sin а

tga = ■
cos а
cos аctga = ------
sin а

tga ■ ctga = 1 
1tga =

ctga 
16. ctga =

tga

7. 1 + tg2a =
cos2 a

9 18. 1 +  ctg a =  — -—
sin a

9. sin(a + p)  =  sin a ■ cos p  + cos a ■ sin p
10. sin(a -  p )  =  sin a ■ cos p  -  cos a ■ sin p
11. cos(a + p)  =  cos a ■ cos ft -  sin a ■ sin p
12. cos(a -  p )  =  cos a ■ cos p  + sin a ■ sin p

13. tg(a + f i)= ^ ± M L
1 -tga -tgp

u .  tg (a -p )=  ,ga- ,gfl
I + tga-tgp

15. c,g{a + ^ a f ^ - 1
ctgp +  ctga

is. Cfr(«-/?)=c<ga'c^ +1
ctgp -  ctga

17.
18.
19.
20.

21.

sin 2a = 2 sin a ■ cos a 
cos2a = cos2 a - s in 2 a 
cos2a = 2 cos2 a - 1 
cos 2a = 1 -  2 sin2 a

, g 2 a = r f ^l - t g  a

22. ctg2a =

23.

24.

25.

26.

27.

28.

asin-

acos — 
2

ctg a - I  
2ctga

1 -co s  a

I + cos a

a sin a 
& T = '2 1 + cos a

1 -  cos a
sin a

a sin a 1 + cos a 
ctS  ~  = '2 1 -  cos a sin a

■ n ~  • « + P а - вsin a + sin В = 2  sin-----— • cos-----—
2 2

• n ^ ■ ol-  В a+ В sin a -  sin p = 2  sin-----— • cos-----—

n ~ a + В a - В29. cos a +cos В = 2cos------ - c o s -----—
2 2

~ • a + В . a - В30. cos a -  cos В = -2  sin-----— • sin-----—
2 2

sin(a+ В)
31. tga + tgP = -----i---- f-J-

cos a ■ cos p
sinia -  В)32. tga -  tgP = ----- i---- f-J-

cos a ■ cos p

33. * » ’ « = I ( l - a » 2 a )

34. cos2a = -̂  (l + cos2a)

35. sin a ■ cos a = — sin 2a
2

36. (sin a + cos a)2 = 1 + sin 2a

37. sin a ■ cos P {sin{a + P) + sin{a -  /?))

38. cos a ■ cos = ~  {cos{a + p) + cos{a -  /?))

39. sin a ■ sin p  = (cos{a -  p) -  cos{a + /?))

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

sinx  = a; p | < l  

x = ( - 1)” arcsin a + тип, n e Z 

cos x  = a; \a\ < 1 

x = ±arccosa + 2?m, n& Z  
tg x  = a
x = arctg а + жп, n& Z  
ctg x  = a
x = arcctg а + жп, n& Z  
sinx  = 0 
x  = жп, n& Z  
cos x  = 0

Ж  r yX  = --b ЖП, n< = Z
2

sin x  = \

x  = — + 2жп, UG Z  
2

cos x  = \ 
x = 2жn, n& Z  
sinx  = -1

x = —— + 2жп, n G Z  
2

cos x  = -1
х = ж + 2жп, n ^ Z
cos(- x) = cos X  lg (-  x) = - tg  X
sinin(- x ) = -  si\sinx 'tg { -x )  = -c tg X


